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20(ا���Aــــــ�ع اHول K)
 (  

(�ط04: (ا���ــــــــــــــــ��@ اHول (  

���������	 ��
�	 (CH3)3C−Cl ������	 �������	 ��� ���� � ���� ����� :  
(CH3)3C−Cl(aq) + 2H2O(l) = (CH3)3C−OH(aq) + H3O

+
(aq) + Cl

−
(aq)  

 ��������	 �����	 �� ��� �
�	 !��  �"���� #����	 	$%� �
�&�	 �����	 '���
 (�	���	 )� �*�� �� ���
 	$+ #�, )� -
20 mL #���� )� (CH3)3C−Cl �����	 .&���� S = 9,25 g/L�/���	 �� - t = 0  #�����	 	$+ �� ���
 80 mL 

 )� )���� ��$� )�95% � ��� 5%�
 - )����,  ���
� #�*� ��� �
�	 !��  &�%� #0 �� ����
�	 ��� �
�	 1�  #��
 �
�2��3� 4�/��) ��6�� 7 #��2���	 8�&��	 1�� ), 9�2
(.�
�, #����	 �� �
����	 8���
�	 ;�� #0�
� :  

   
6,0 5,0 4,0 3,5 3,0 2,5 2,0 1,5 1,0 0,5 0 t (min) 

0,852 0,852 0,830 0,800 0,760 0,688 0,577 0,502 0,412 0,246 0 σ (S/m) 
  

1< =��� )� #����	 	$+ ������ )��� 	$��� >�*,  !�� ? ��� �
�	.  
2< 1A - #��2��	 1�"� #��� ��*
, 8�
��	 ��/�B	 1�"��	 ���  xmax.   
3<,  1�"��	 (���� ���x(t) ��7�� xmax - σ (t) C� σ f) #����	 ���%
 �� ����
�	 ��� �
�	.(  
4< � D�
	  (���� )�x(t)#����	 �� �
����	 4�/���	 �� 1�"��	 1�"� 7��� &�
, �"����	 .  
5< )����	 1��, x = f(t)  -1�� !��"� #����������
�  .  

6<#��2��	 E0
 )�& E�� t½   -F�����  )GG�� .  
7< �
� #��2��� ������	 �����	 ���, t = 1 min . 1A ���	 ��2�3� ������	 �����	 8�
��	 ��(CH3)3C−Cl .  
8<��� 	���2� ��, ? )�&�	 '� #��2��� ������	 �����	 ����� E�� GGGG��.  
9<#�, )� �"����	 ������	 ���
  S = 4,625 g/L-  ��2�� 1��, )=����	 1����	 !2
 �� ()����	 x = g(t)#�����	 '� -.  

��������:  Cl = 35,5 g/mol  ;  C = 12 g/mol  

�ا���ــــــــــــ�O@ ا��ط04: (ــــ��)
 (  

 1������	 #�����Th����H	 4���2��	 ��� ����� �� � - 1��
	����� #��� I��
 �� �� .   

1������	 (	�
 )JTh 
232

90 4������ ��*�α.   

�/���	 �� �
���t = 0 �%���� 1������	 )� ��*� �
��   
m0 = 1 mg  ����*�	 ��*
�	 ������ 4��� -  �
����  

 �
����	 ;
�
��	 1���f(t)
N

N(t)
=

0

  �� KL���	
����)1(   

 M�� =����	N(t)  �/���	 �� ��"����	 ���
B	 ���t.   
1< #������ �
������� N�2��	 ������ ���, )�����	 #2�, .  
2< �
���	 �� ��*��	 ���	����	 ���
B	 ��� ���, N0.  
3<)��  
�����)�&�	 4��A  τ .? ����&�2�	 ������ ��.   
< ���  8�
��	 λ����*�	 N�2��	 4��A .  

4<����	 E0
 )�& � D� ���,   t½  ��7��τ ,���7��  λ-  ����  ���, 1A.  
5<�����J 	��"����	 ���
B	 ��� ���, )����	 ;��   �/���	 ��t = 10 jours .  �
���� ����*�	 ��*
�	 ���  �� �+�
�? . 

6<�&�	 �+ �� ;�J ��*
�	 O �
�� 1&D�	 ) 
10

1
 ;�/��	 ����  )� (A0)? .   

��������: �������� ���:NA = 6,023 .10
23

              
  

89Ac 86Rn  88Ra 85At  

t(jours) 

0N

N(t)
 

1 

10 

P;'1(ا�(  
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Q��O@ ا��ط04: (ا���ــــــــــــــــ��)
 (  
������	 ������%��	 �0�
��	 #�����	 ;�� ���
 :�����"� ���, # �
(R)  -  

�%��� �
��*� ��P �2A��(C) 4��A �����%� ���� �$ ���� - E = 12V -   
 ���� )K( 
����)2(.     

 1�	�� �%�0
 (�	��	 �� ����	 �����%��	 ������ �
�&�	 �����	 ��%/�  
�/���	 �� ����"�	 =�6
 - (��	$ I$ &	&�+	t = 0   �*�* ;�� �+�*
�  

�� - ��
��� ��
�
� &	&�+�	 1�	� )����	 1�� )��, ���� ������i(t)   
���	GGG �� )�
����)3(.  
1< 1���	 ;�� )�� ��2�� (�	���� &	&�+�	 1�	� ��� �����	 .$+ �� .  
2<  )����	 ;�� ��������
����)3(:   
, / )�&�	 4��A ���  )��τ/��	 ���"�	 � - GGG;�   

)�*�	 �����.  
� / )� #� ���  8�
��JR C� C.  
3<,  /�� �������	 ), )�� 4	�����	 '�� )�
�  =���  

)� ���� ���	 ���L�2��	 q(t)(������� ;��� :  

R

E

RC

tq

dt

dq(t)
=+

)(
   

� /(������� �"����	 �������	 #� ;���:  

).()( α

t

e1Atq
−

−=  M��(A ; α)   
��%
� #� (���� ����� ���� )����A.  

< G� ����&�2�	 #�����	 �+ �� α?   .  

R /)�*�	 ���%
 �� �2A���	 �� �
&�3��	 �
�*�	 ���,.  

� / �
�*�	 �2A���	 �%�� )&3� ���	 �/���	 �� (�	��	 �� ����	 �����	 (�* ���,
4

Q
q 0=)��2��3� )��"���� - .  

  

R@ ا��اب�ط04: (ا���ــــــــــــــــ��)
 (  
 ���*
�	 &�PNH3��	 �� ���&� #�
� E��L !��,  ��.  

 �����	 �� - ���*
�	 &�6� 7���� �L�
25°C �����	 .&���� - C = 0,2 mol/L )��� 1�� ��	$S� N�$ � (V0) �
� 
 ��200 mL��"��	 ����	 )�  #��2��	 1�"�� ����%
�	 ���
�	 4
���  τ f = 10 

– 2.  
1<���
��� ��� !��B	 E�� .  
2<,  /����	 �� !��B	 #D�
	 ������ ���,.  
  �  / �	$��	 &�6�	 1�� 8�
��	(V0)) . )����/
�	 )���*�	 �� !�"� &�6�	 1��.(  
3<,  /#��2��	 1�"� #��� ��*
,.  

�    / )&	���	 4��A ���,K!�����	 #��2��� .  

R    / ����
A�� �L����	 4��A ), )��(NH4
+
/NH3) � (������� ;��: 

K

e
K

a
K =����  ���, 1A - .  

�     / G�	 ���  8�
��	pKa�"����	 ����
A�� .  
4<,  / G�	 ���  ���,pH)&	���	 ���� �� .  

� /)&	���	 �
� �
, )��)��� )( pKapH 
10

f4
NH

f3
NH

−













=
+

. ���
�	 .$+ ���, -? 8�
��� 	$�� .  

��������: VM = 22,4 L/mol    - Ke = 10 
− 14      

K 

R 

+ − 

C 

uC uR 

E 

P;'2(ا�(  

t(ms) 

i(mA) 

50 

20 

P;'3(ا�(  
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(�ط40: ()ت#��&�(�CمS ا���ــــــــــــــــ��@ ا� (  
 ��"
 )�(A)#��� ���� ;��, ����  (AB = 1m)  N��
 ���	���	 ���� )���(��60 ����) �+����
 ���"
 ( �%��GG�� -

m = 50 g - ��"�	 ������ N�$ ��� � D� 1A - I�����	 	$+ ;�� N����	 )�� N���������  (BO = 2m).   
ΙΙΙΙ� ����� ������� )BO(����� � �� :   

 �����	 ���6� I�����	(BO) ��"
�	 �
� (O) ��"�, ���	���	 ����� (v0) ��"
�	 �� - 1�0� � ��L2�	 �� �"��� (C) - 
 ������ #�B	 #2�, '"� �3T ��"�, ������h . 
����)4( =����	 .  

  
  
  
  
  
  
  
  
  
  
  
  

 ��2���	 (�� #� �� ��6
 � 4	�� (�� ������	 ���
(h = y) ��"��	 ' �� ��0�� !�"
� (C)0�
�  8���
�	 ;�� #
 #����	 �� �
����	��H	:  

10 8  6 4  2 y (m) 

4,5  4,0  3,5  2,8 2,0  x (m) 

      x
2
 (m

2
) 

  

1< =����	 #����	 #��,  )����	 1��, 1A -y = f(x
2
)? 8�
��� 	$�� -���
� 1�� #������� .  

2< )����	 1����	 �� �����	 ���� ����� !��, ���3��	 '����	 ����� '� -  - � �����	 (���6� �/�� �
�&B	 ,��� $3U�
 ��"
�	(O) .!���3�, ���	� � �	�%�	 ����"� #�%�.  

< �����	 ������ 8�
��J y = f(x).   
3<=�� �� ;�� 	�����	  ���  ���, - v0 . $3V� g = 10 m.s

−2.   
4<�&��	 �� �����	 ���� ����� ���  (BO) �����	 ���  8�
��	 1A - vB.  
5<� =�����  ������ � ���	 /�2�
	 ,��)�+����� ������	 ( �&��	 ��(AB) ����  8�
��	 -(h’) C� (α) .  
ΙΙΙΙΙΙΙΙ� ����� ������� )BO(!�" :  

 ��"
�	 �
� E ��� �����	 ), �����	 .$+ �� 9�2
(O)  I������ I&	�� �%���� N����	 (�  ���� ����(BO) �%�%� - 
3 ����A �%���  � - �����	 �%�� ������ #�"�
�	 #D )�(B) ;�J (O) .  

<�  ���, GGGGGGGG N�����	 (�  ��f.    
  
  
  
  
  
  
 
  
  

P;'4(ا�(  
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 �
�Oــــــ�ع ا�A�20(ا��
K)
 (  

(�ط04: (ا���ــــــــــــــــ��@ اHول (  

 (���	 #��2� ���� ��	��propan-2-ol4�
6
����	 4�
��	 ���	��   MnO4
–� ���� #��2� �+�  1��:  

5C3H8O(aq) + 2MnO4
–

(aq) + 6H3O
+

(aq) = 5C3H6O(aq) + 2Mn
2+

(aq) + 14H2O(l)  .....(1) 

� ��#��� $�%��� ��&'�: ����
���	 �� 'L
 50,0 mL &����� 1��������	 4�
6
��� #���� )� C0 = 0,20 mol/L   
� 50,0 mL  4�����	 9�� #���� )�)(����(D3� =�� ����
���7	 'L
� �����
6� � -�/���	 ��t = 0  E�L
 

 8�&���1,0 mL )� propan-2-ol .  
�/���	 �� $3U
t  1�� V = 10 mL  8�&��	 )�  

 I���� �*�� �� ��L
� ����2��	40 mL 8�A� ���   
 ����
�, �*���	 �  (������	 4�
6
����	 4�
��  

���
A�	 �����	 4������ #����������	 .&����   
 C' = 0,5 mol/L - �����	 1���	�� V 'E#0���	   

 1�"��	 ������ N�$ ��� K��� ����x (���	 #��2��   
 �/���	 �� #����	t -  �� 4	�� (�� ������	 ���
  

� �2��3� 4�/�� ;
�
��	 1��
 x = f(t)=����	 .  
< 4������	 :   

Propan-2-ol :  ������	 �����	  ρ = 0,785 g.mL
−1 ������	 �����	 -M = 60,0 g.mol

−1    
 4����
A�	(Ox/Réd) :                          Fe

3+
(aq)/Fe

2+
(aq) ; MnO4

–
(aq)/Mn

2+
 (aq) ; C3H6O(aq)/C3H8O(aq) 

MnO4
–
(aq)���2
� �%
��  -  Mn

+2
(aq))���	 �����.  

(������� 
��#� )����: )
��#���)2((  
1 /C�����	 #�����	 (�� #� �� 'L
 	$��� �� �40 mL�����	 ����	 )� ? .  
2/ �, �� �������	)2 ((������	 #��2��. 

3/ V�����	 ��"
 E��  -�%��� #���� E���? .  
4/ (���� ��	 n'(MnO4

−
) ��	U �/���	 �� $�3t��7��   C'�  V 

'
E.    

���*��� 
��#��� )���� :)
��#���)1((  
)	 ����
(n) �/���	 �
� ����2��	 8�&��	 �� 4�
6
����	 ���� (t);��� : n(MnO4

−
) = 10 n'(MnO4

−
)

 .  
1/ 	 4�����	 (���� ��	���GGG � 4�
6
����	 4�
��7 ���	�propan-2-ol�	 �� �� ����2��	 8�& ���	 � �%� &��
 G:  

 n 0  �n'0������	 ;��   -��	 1AGGGGG�%�.  
2/ #��2��� 1�"��	 #��� W*
	 )1(.  
3/  ���	xmax#��2���  )1 (����	 #��2��	 �+ ���? .  
4/ (���� ��	 1�"��	 x ��7�� n0 , C’ , V’E .   

5/ E��#��2��	 E0
 )�&  t½ .�  ����	.  
6 / �/���	 �� #��2��	 ���� ���,t = 4 min.   
  

�
�O@ ا��ط04: (ا���ــــــــــــــــ��)
 (  

1< )����
� ���$"��	 1��
	����	 ���
, ���*
	 4D��2� ��,�+ : nXXeSrnU 1
0

139
Z

94
38

1
0

235
92

++→+    

,/ ���	 )&	� ���  ����S� �"����	 ����X-  Z .  

�/)� (������	 � ���	 #����� ���,  : <  1��
	��� (	�
 ���*
J < ���*
J 100 g��
	����	 ���
, )� 1.  

2<�+ 1�������� 1�����	 4D��2� ��, : ...    +→+ HeHH 3
2

2
1

2
1

      

, /1�������� I��
�	 1�����	 ������ #��,.  

� /	 � ���	 ���,1������ ��	�
 1����J )� ����
�	 (������ . �  1����J )� ����
�	 N�$�100 g  1�������	 )�.  

0,5 

2 0 

t(min) 

x(mmol) 

P;'5(ا�(  
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3< 4D��2���� �%��� #0����	 8���
�	 )��  )1 ( -)2 ( .8�
��� 	$�� ?.  
4< � ? ����
0 � ���	 ������ #����� )����2��	 I, ? 	$���. 

5<N����J ��� ? ��3, )����2��	 I, .  
��������:  �������� ��� :NA = 6,023 .10

23
            1MeV = 1,6×10

−13
 J              

n1
0

 H2
1

 He3
2

 Sr94
38

 Xe139
Z

 U235
92

 ������ 

1,0087 2,0141 3,0160 93,8946 138,8882 235,0134 ��	�
 (u) 
  

Q��O@ ا��ط04: (ا���ــــــــــــــــ��)
 (  
�
 ;�� �
����	 (	���	 ="
����)6(.   
1< #��� 4 � )� 4"�P, �  ����"�	 ), ����
 ��	���	 ��  .  
<, �� �����%��	 �����	 (�* (���� I0 1A - ������	 4	&��� ��7��   

��  ���,GGGGG�%� .  
2<�� ��, �%���  ���, 1A - ���*��	 �%�"�� ���	 � ���	 (��.  
3< �/���	 �� t = 0 ����"�	 K�2
 K.  
, /��	 �����	 (�* �%""�� ���	 ���L�2��	 �������	 ���,%(�	��	 �� �����.  

� /�����	 #��	 #�"� ���L�2��	 �������	 .$+ ), ��U�:
t

L

R

e
R

E
ti

−
=)(    

R / (��GGGG�� 8�
��	uAB(t).   
4< ��
�&�	 ��������� 1�"
  �����	 �����uAB ����"�	 K�� �
�   

1��� �
� K��� !��"�	 8���
 )����	 �� 
����)7(.  
, /�	 =�	�� ;
�
��	 #�* ), )��(����#	V��	 ��  3/R.  

� / ��"�	 ���
A� )�&�	 4��A ���  )�����RL �"����	 '��
   
������	:  )���t1���	 �/���	 �+  	�&� �����	 �%�� �uABG�   
10% ����  )� ���	����	�/���	 � t2 #0� ���	 �/���	 �+   

��	&��	 �%�� ;�J 90%  )��	��"����	����	 .  
< )�&�	 4��A ��7�� - ��, τI$�	 ���0�	 )�& -   �� &���  
�&����: tm = t2 – t1 .     

R / )�&�	 4��A ���  8�
��	τ  -)��  1A �"�	 '� ���"�	 .$+ ��  
���	 � D�
	 ����  )�L � R.   

  

R@ ا��اب�&�(ا���ــــــــــــــــ��ط04: ()ت#��)
 (  
N��&
��	 9�� C6H5COOH -4����*��	 �0�3 � ���	$6�	 �	���	 9�� �� �/��� (���� #����� 9��, ��0 1�� 

����� ��L�� � 4����2�� ����� �0��03� 	�/
����.  
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